Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to
support? / Well, which party would you say you would lean towards?

Vote
The Liberal | The New | TheBloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's | other party |vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would spoil
Canada ballot
A B c D E F G H o
Base: All Respondents (unwtd) 1001 303 244 160 65 25 31 3 64 106
Base: All Respondents (wtd) 1001 336 194 145 61 25 34 8 80 119
336 336 - - - - - - - -
The Conservative Party 34% 100% - - - - - - - -
BCDHI * *% sk *% * *
194 - 194 - - - - - - -
The Liberal Party 19% - 100% - - - - - - -
ACDHI * *k *k *k * *
145 - - 145 - - - - - -
The New Democratic Party (NDP) 14% - - 100% - - - - - -
ABDHI * *k *k *k * *
61 - - - 61 - - - - -
The Bloc Quebecois (BQ) 6% - - - 100% - - - - -
ABCHI* *k *k *k * *
25 - - - - 25 - - - -
The Green Party 3% - - - - 100% - - - -
* *k *k *k * *
34 - - - - - 34 - - -
The People's Party of Canada 3% - - - - - 100% - - -
* *% *k *k * *
8 - - - - - - 8 - -
Or some other party 1% - - - - - - 100% - -
* *% *k *k * *
80 - - - - - - - 80 -
Would not vote/None/Would spoil ballot 8% - - - - - - - 100% -
* *% *k *k ABCDI* *
119 - - - - - - - - 119
Don't Know/Not sure 12% - - - - - - - - 100%
* *% *k *k * ABCDH*
1001 336 194 145 61 25 34 8 80 119
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to
support? / Well, which party would you say you would lean towards?

e T ]

Total The The Liberal [ The New [ The Bloc | The Green Or some | Would not
Conservativ Party Democratic| Quebecois Party Peoples other party |vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H |

Base: All Answering (unwtd) 831 303 244 160 65 25 31 3 - -

Base: All Answering (wtd) 802 336 194 145 61 25 34 8 - -

336 336 - - - - - - - -

The Conservative Party 42% 100% - - - - - - - -
BCD * * % * %k * %

194 - 194 - - - - - - -

The Liberal Party 24% - 100% - - - - - - -
ACD * * % * %k * %

145 - - 145 - - - - - -

The New Democratic Party (NDP) 18% - - 100% - - - - - -
ABD * * % * %k * %

61 - - - 61 - - - - -

The Bloc Quebecois (BQ) 8% - - - 100% - - - - -
ABC* * % * %k * %

25 - - - - 25 - - - -

The Green Party 3% - - - - 100% - - - -
* * % * ¥ * %

34 - - - - - 34 - - -

The People's Party of Canada 4% - - - - - 100% - R _
* * % * ¥ * %

8 - - - - - - 8 - -

Or some other party 1% - - - - - - 100% - -
* * % * ¥ * %

802 336 194 145 61 25 34 8 - -

Sigma 100% 100% 100% 100% 100% 100% 100% 100% - -




Do you agree or disagree that.. - Political parties should work together to ensure the Federal Liberals don’t win.

T e

Total The The Liberal| The New [ TheBloc | The Green Or some | Would not
Conservativ Party Democratic| Quebecois Party Peoples other party |vote/None/| Know/Not
e Party Party (NDP) ((:]0))] Party of Would spoil
Canada ballot

A B C D E F G H |
Base: All Respondents (unwtd) 1001 303 244 160 65 25 31 3 64 106
Base: All Respondents (wtd) 1001 336 194 145 61 25 34 8 80 119
423 235 31 49 24 4 22 - 21 37
Top 2 Box (Net) 42% 70% 16% 34% 39% 18% 65% - 26% 31%
BCDHI B B* * %k * % * %k * B *
176 127 7 5 4 2 11 - 11 10
Strongly agree 18% 38% 3% 4% 6% 8% 32% - 14% 9%
BCDHI * *% * %k *% Bc* *
247 108 25 43 20 2 11 - 10 27
Somewhat agree 25% 32% 13% 30% 33% 10% 33% - 12% 23%
B H B H B H * * % * % * % * *
443 81 147 81 33 17 9 8 22 44
Bottom 2 Box (Net) 44% 24% 76% 56% 54% 69% 26% 100% 28% 37%
ACDHI AHI AH* ** *x ** * A*
225 42 52 41 22 8 7 7 16 31
Somewhat disagree 22% 12% 27% 28% 36% 31% 19% 92% 21% 26%
A A A* * % * %k * % * A*
218 39 96 41 11 10 2 1 6 13
Strongly disagree 22% 12% 49% 28% 18% 38% 6% 8% 7% 11%
ACDHI AH I * *% * %k *% * *
135 19 16 15 4 3 3 - 37 38
Don’t know 13% 6% 8% 10% 6% 13% 9% - 46% 32%
* * % * %k * % ABCD* ABCD*
1001 336 194 145 61 25 34 8 80 119
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Do you agree or disagree that.. - Political parties should work together to ensure the Conservative Party doesn’t win.

- T e

Total The The Liberal| The New [ TheBloc | The Green Or some | Would not
Conservativ Party Democratic| Quebecois Party Peoples other party |vote/None/| Know/Not
e Party Party (NDP) ((:]0))] Party of Would spoil
Canada ballot

A B C D E F G H |
Base: All Respondents (unwtd) 1001 303 244 160 65 25 31 3 64 106
Base: All Respondents (wtd) 1001 336 194 145 61 25 34 8 80 119
372 53 129 94 24 21 8 5 13 25
Top 2 Box (Net) 37% 16% 67% 65% 39% 84% 23% 64% 16% 21%
ADHI ADHI AHI* ** *x ** * *
159 11 62 48 14 7 2 5 4 5
Strongly agree 16% 3% 32% 33% 24% 29% 7% 64% 5% 4%
AH I AH I AH I* %k * % %k * *
213 42 68 46 10 14 6 - 9 20
Somewhat agree 21% 12% 35% 32% 16% 54% 17% - 11% 16%
AD H I ADHI * * % * % * % * *
462 263 46 30 30 4 23 1 26 39
Bottom 2 Box (Net) 46% 78% 24% 21% 48% 15% 67% 8% 33% 33%
BCDHI Bc* *% * %k *% * *
168 53 25 19 23 2 5 - 13 27
Somewhat disagree 17% 16% 13% 13% 38% 10% 14% - 17% 22%
ABCH * * % * %k * % * *
293 210 21 11 6 1 18 1 13 13
Strongly disagree 29% 63% 11% 8% 10% 5% 54% 8% 16% 11%
BCDHI * *% * %k *% * *
167 20 19 20 7 * 3 2 41 55
Don’t know 17% 6% 10% 14% 12% 1% 9% 28% 51% 46%
A * * % * % * % ABCD* ABCD*
1001 336 194 145 61 25 34 8 80 119
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Do you agree or disagree that.. - | would consider voting strategically in my riding to keep a particular party from winning a seat.

e

Total The The Liberal| The New [ TheBloc | The Green Or some | Would not
Conservativ Party Democratic| Quebecois Party Peoples other party |vote/None/| Know/Not
e Party Party (NDP) ((:]0))] Party of Would spoil
Canada ballot

A B C D E F G H |
Base: All Respondents (unwtd) 1001 303 244 160 65 25 31 3 64 106
Base: All Respondents (wtd) 1001 336 194 145 61 25 34 8 80 119
509 188 106 90 33 11 22 5 13 40
Top 2 Box (Net) 51% 56% 55% 62% 55% 44% 64% 72% 17% 33%
H I H I H I H I* * %k * % * %k * *
199 80 45 30 8 4 9 5 5 13
Strongly agree 20% 24% 23% 21% 13% 15% 25% 64% 6% 11%
H | H I H * *% * %k *% * *
310 108 61 60 25 7 13 1 8 27
Somewhat agree 31% 32% 31% 41% 42% 29% 38% 8% 10% 23%
H H H I H I* * % * % * % * *
284 99 58 37 19 10 9 2 19 31
Bottom 2 Box (Net) 28% 29% 30% 25% 31% 38% 28% 28% 24% 26%
* *% * %k *% * *
163 48 34 23 12 8 4 - 11 23
Somewhat disagree 16% 14% 17% 16% 19% 31% 12% - 14% 20%
* * % * %k * % * *
121 50 24 14 7 2 5 2 8 8
Strongly disagree 12% 15% 13% 10% 11% 7% 15% 28% 10% 7%
* *% * %k *% * *
209 49 30 18 9 4 3 - 48 48
Don’t know 21% 15% 15% 12% 15% 18% 9% - 60% 40%
* * % * %k * % ABCD* ABCD*
1001 336 194 145 61 25 34 8 80 119
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Do you agree or disagree that.. - Top 2 Box Summary

e

Total The The Liberal| The New [ The Bloc | The Green Or some | Would not
Conservativ Party Democratic| Quebecois Party People s | other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would spoil
Canada ballot

423 235 31 49 24 4 22 - 21 37
Political parties should work together to ensure the Federal
Liberals don’t win. 42% 70% 16% 34% 39% 18% 65% - 26% 31%
372 53 129 94 24 21 8 5 13 25
Political parties should work together to ensure the
Conservative Party doesn’t win. 37% 16% 67% 65% 39% 84% 23% 64% 16% 21%
ADHI ADHI AHI* *x *ok *k * *
509 188 106 90 33 11 22 5 13 40
| would consider voting strategically in my riding to keep a
particular party from winning a seat. 51% 56% 55% 62% 55% 44% 64% 72% 17% 33%




Do you agree or disagree that.. - Bottom 2 Box Summary

T e T

Total The The Liberal| The New [ The Bloc | The Green Or some | Would not
Conservativ Party Democratic| Quebecois Party People s | other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would spoil
Canada ballot

443 81 147 81 33 17 9 8 22 44
Political parties should work together to ensure the Federal
Liberals don’t win. 44% 24% 76% 56% 54% 69% 26% 100% 28% 37%
ACDHI AHI AH* *x *x *x * A*
462 263 46 30 30 4 23 1 26 39
Political parties should work together to ensure the
Conservative Party doesn’t win. 46% 78% 24% 21% 48% 15% 67% 8% 33% 33%
284 99 58 37 19 10 9 2 19 31
| would consider voting strategically in my riding to keep a
particular party from winning a seat. 28% 29% 30% 25% 31% 38% 28% 28% 24% 26%
* k% k% k% * *




